#### SANITARY SEWER PETITION

REVISED

To the Mayor and City Council Bel Aire, Kansas

Dear Council Members:

 We, the undersigned owners of record as below designated, of Lots, Parcels, and Tracts of real property described as follows:

#### CHAPEL LANDING 6TH ADDITION

Lots 1 through 34, Block A

do hereby petition pursuant to the provisions of K.S.A. 12-6a01 et seq., as amended, as follows:

- (a) That there be constructed a lateral sanitary sewer to serve the area described above, according to plans and specifications to be furnished by the City Engineer of the City of Bel Aire, Kansas.
- (b) That the estimated and probable cost of the foregoing improvements being Seven Hundred Forty-Two Thousand Dollars (\$742,000.00), with 100 percent payable by the improvement district. Said estimated cost as above set forth may be increased to include temporary interest or finance costs incurred during the course of design and construction of the project, and also may be increased at the pro rata rate of 1 percent per month from and after the date of adoption of a resolution authorizing the Improvements.
- (c) That the land or area above described be constituted as an improvement district against which shall be assessed 100 percent of the total actual cost of the improvement for which the improvement district is liable.

If this improvement is abandoned, altered and/or constructed privately in part or whole that precludes building this improvement under the authority of this petition, any costs that the City of Bel Aire incurs shall be assessed to the property described above in accordance with the terms of the petition. In addition, if the improvement is abandoned at any state during the design and/or construction of the improvement or if it is necessary for the City of Bel Aire to redesign, repair or reconstruct the improvement after its initial design and/or construction because the design or construction does not meet the requirements of the City, then such costs associated with the redesign, repair or reconstruction of said improvement shall be assessed to the property described above in accordance with the terms of this petition.

(d) That the method of assessment of all costs of the improvement for which the improvement district shall be liable shall be on a fractional basis

The fractional shares provided for herein have been determined on the basis of equal shares being assessed to lots or parcels of substantially comparable size and/or value: Lots 1 through 34, Block A, CHAPEL LANDING 6<sup>TH</sup> ADDITION shall each pay 1/34 of the total cost of the improvements.

In the event all or part of the lots or parcels in the improvement district are re-platted before assessments have been levied, the assessments against the re-platted area shall be recalculated on the basis of the method of assessment set forth herein. Where the ownership of a single lot is or may be divided into two or more parcels, the assessment to the lot so divided shall be assessed to each ownership or parcel on a square foot basis.

- (a) It is requested that the improvement hereby petitioned be made without notice and hearing, which, but for this request, would be required by K.S.A. 12-6a04.
  - (b) Signatures on this petition are made with full knowledge and understanding that said signatures constitute a waiver of the limitations contained in K.S.A. 13-1013, which appear to limit the assessment for a lateral sewer to not more than one lateral sewer.
- 3. That names may not be withdrawn from this petition by the signers thereof after the Governing Body commences consideration of the petition or later than seven (7) days after filing, whichever occurs first.
- 4. That when this petition has been filed with the City Clerk and it has been certified that the signatures thereon are according to the records of the Register of Deeds of Sedgwick County, Kansas, the petition may be found sufficient if signed by either (1) a majority of the resident owners of record of property liable for assessment under the proposal, or (2) the resident owners of record of more than one-half of the area liable for assessment under the proposal, or (3) the owners of record (whether resident or not) of more than one-half of the area liable for assessment under the proposal. The Governing Body is requested to proceed in the manner provided by statute to the end that the petitioned improvements may be expeditiously completed and placed in use if and when such improvements are necessary to serve any building which may be constructed on the real property after the date on this petition.

WITNESS our signatures attached with respect to each of which is indicated the property owned and the date of signing.

LEGAL DESCRIPTION	SIGNATURE	DATE	
CHAPEL LANDING 6TH ADDITION Lots 1 through 34, Block A	TW RENOVATIONS, LLC		
	By:	2/24/25	
		r, Managing Member	
****	*****		
THIS PETITION was filed in my owas examined, considered and found s	office onsufficient by the Govern	, and ning Body of the City on	
	Cit	ty Clerk	

# **CHAPEL LANDING 6TH ADDITION**

Wichita, Sedgwick County, Kansas

#### SANITARY SEWER PETITION

Benefit District: (34 Lots) Lots 1 Through 34, Block A

#### **Cost Estimate**

Item	Quantity	Unit	Unit Price	Amount
8" Pipe	2575	L.F.	\$65.00	\$167,375.00
Manhole	15	EA.	\$8,000.00	\$120,000.00
Manhole Adjustment	1 1	EA.	\$2,000.00	\$2,000.00
Risers	68	EA.	\$2,750.00	\$187,000.00
Stub	1 1	EA.	\$1,500.00	\$1,500.00
Flowable Fill	160	L.F.	\$200.00	\$32,000.00
Sand Backfill (Flushed & Vib.)	775	L.F.	\$20.00	\$15,500.00
Connect to Existing	1 1	L.S.	\$4,000.00	\$4,000.00
Seeding & Erosion Control	1	L.S.	\$5,000.00	\$5,000.00
Site Clearing and Restoration	1	L.S.	\$15,000.00	\$15,000.00
Subtotal		10 120 00000		\$549,375.00
+ 35% Design, Insp., & Administration				\$192,281.26
Total				\$741,656.25

**Petition Amount** 

\$742,000

Average Cost Per Lot

\$21,824

Average Monthly Assessment

\$173 (Based on 15 years @ 5%)

Average Monthly Assessment

\$144 (Based on 20 years @ 5%)

SANITARY SEWER, WATER, STORM WATER SEWER, & STREET PAVING PROJECTS CHAPEL LANDING 6TH BEL AIRE, SEDGWICK COUNTY, KANSAS CHAPEL LANDING 6TH ADDITION 34 TOTAL LOTS BAUGHMAN COMPANY ata File at Wichita, KS 87211 316-262-7271 BaighmanCo.com

#### STORM WATER SEWER PETITION

REVISED

To the Mayor and City Council Bel Aire, Kansas

Dear Council Members:

 We, the undersigned owners of record as below designated, of Lots, Parcels, and Tracts of real property described as follows:

### CHAPEL LANDING 6TH ADDITION

Lots 1 through 34, Block A

do hereby petition pursuant to the provisions of K.S.A. 12-6a01 et seq., as amended:

- (a) That there be constructed a storm water sewer system to serve the area described above, according to plans and specifications to be furnished by the City Engineer of the City of Bel Aire, Kansas.
- (b) That the estimated and probable cost of the improvements is Nine Hundred Sixty-Eight Thousand Dollars (\$968,000.00) exclusive of the cost of interest on borrowed money, with 100 percent payable by the improvement district. Said estimated cost as above set forth may be increased to include temporary interest or finance costs incurred during the course of design and construction of the project, and also may be increased at the pro rata rate of one percent per month from and after the date of adoption of a resolution authorizing the Improvements.
- (c) That the land or area above described be constituted as an improvement district against which shall be assessed 100 percent of the total actual cost for which the improvement district is liable.

If this improvement is abandoned, altered and/or constructed privately in part or whole that precludes building this improvement under the authority of this petition, any costs that the City of Bel Aire incurs shall be assessed to the property described above in accordance with the terms of the petition. In addition, if the improvement is abandoned at any state during the design and/or construction of the improvement or if it is necessary for the City of Bel Aire to redesign, repair or reconstruct the improvement after its initial design and/or construction because the design or construction does not meet the requirements of the City, then such costs associated with the redesign, repair or reconstruction of said improvement shall be assessed to the property described above in accordance with the terms of this petition.

WITNESS our signatures attached with respect to each of which is indicated the property owned and the date of signing.

LEGAL DESCRIPTION	SIGNATURE	DATE
CHAPEL LANDING 6 <sup>TH</sup> ADDITION Lots 1 through 34, Block A	TW RENOVATIONS, LL	c
	By: Trayis J. Whisler, M	2/24/25 Managing Member
****	********	
THIS PETITION was filed in my owas examined, considered and found	office onsufficient by the Governing	, and Body of the City on
	City C	Clerk

### **CHAPEL LANDING 6TH ADDITION**

Wichita, Sedgwick County, Kansas

# STORM WATER SEWER PETITION

Benefit District: (34 Lots) Lots 1 Through 34, Block A

Cost Estimate

Item	Quantity	Unit	Unit Price	Amount
Excavation	50000	C.Y.	\$4.00	\$200,000.00
Mass Grading	1 1	L.S.	\$40,000.00	\$40,000.00
15" Pipe	1150	L.F.	\$110.00	\$126,500.00
18" Pipe	200	L.F.	\$120.00	\$24,000.00
24" Pipe	800	L.F.	\$140.00	\$112,000.00
Backyard Inlets/Manholes	10	EA.	\$5,500.00	\$55,000.00
End Section	4	EA.	\$2,500.00	\$10,000.00
Curb Inlets	8	EA.	\$10,500.00	\$84,000.00
Sand Backfill	120	L.F.	\$40.00	\$4,800.00
Rip Rap	200	S.Y.	\$100.00	\$20,000.00
Testing	1 1	L.S.	\$10,000.00	\$10,000.00
Seeding & Erosion Control	1 1	L.S.	\$10,000.00	\$10,000.00
Site Clearing and Restoration	1	L.S.	\$20,000.00	\$20,000.00
Subtotal				\$716,300.00
+ 35% Design, Insp., & Administration				\$250,705.00
Total		Samme week		\$967,005.00

Petition Amount \$968,000

Average Cost Per Lot \$28,471

Average Monthly Assessment \$225 (Based on 15 years @ 5%)

Average Monthly Assessment \$188 (Based on 20 years @ 5%)

SANITARY SEWER, WATER, STORM WATER SEWER, & STREET PAVING PROJECTS CHAPEL LANDING 6TH BEL AIRE, SEDGWICK COUNTY, KANSAS CHAPEL LANDING 6TH ADDITION - 34 TOTAL LOTS Ø BAUGHMAN COMPANY 315 Ellis 81, Wichite, K8 07211 316 202-7271 BaughmunCo com

### WATER DISTRIBUTION SYSTEM PETITION

REVISED

To the Mayor and City Council Bel Aire, Kansas

Dear Council Members:

 We, the undersigned owners of record as below designated, of Lots, Parcels, and Tracts of real property described as follows:

### CHAPEL LANDING 6TH ADDITION

Lots 1 through 34, Block A

do hereby petition, pursuant to the provisions of K.S.A. 12-6a01 et seq., as amended, as follows:

- (a) That there be constructed a water distribution system, including necessary water mains, pipes, valves, hydrants, meters and appurtenances to serve the area described above, according to plans and specifications to be furnished by the City Engineer of the City of Bel Aire, Kansas.
- (b) That the estimated and probable cost of the foregoing improvements being Two Hundred Eighty-Seven Thousand Dollars (\$287,000.00), with 100 percent of the total cost payable by the improvement district. Said estimated cost as above set forth may be increased to include temporary interest or finance costs incurred during the course of design and construction of the project, and also may be increased at the pro rata rate of 1 percent per month from and after the date of adoption of a resolution authorizing the Improvements.
- (c) That the land or area above described be constituted as an improvement district against which shall be assessed 100 percent of the total actual cost of the improvement for which the improvement district is liable.

If this improvement is abandoned, altered and/or constructed privately in part or whole that precludes building this improvement under the authority of this petition, any costs that the City of Bel Aire incurs shall be assessed to the property described above in accordance with the terms of the petition. In addition, if the improvement is abandoned at any state during the design and/or construction of the improvement or if it is necessary for the City of Bel Aire to redesign, repair or reconstruct the improvement after its initial design and/or construction because the design or construction does not meet the requirements of the City, then such costs associated with the redesign, repair or reconstruction of said

improvement shall be assessed to the property described above in accordance with the terms of this petition.

(d) That the method of assessment of all costs of the improvement or which the improvement district shall be liable shall be on a fractional basis.

The fractional shares provided for herein have been determined on the basis of equal shares being assessed to lots or parcels of substantially comparable size and/or value: Lots 1 through 34, Block A, CHAPEL LANDING 6TH ADDITION shall each pay 1/34 of the total cost of the improvements.

In the event all or part of the lots or parcels in the improvement district are re-platted before assessments have been levied, the assessments against the re-platted area shall be recalculated on the basis of the method of assessment set forth herein. Where the ownership of a single lot is or may be divided into two or more parcels, the assessment to the lot so divided shall be assessed to each ownership or parcel on a square foot basis.

- 2. It is requested that the improvement hereby petitioned be made without notice and hearing, which, but for this request, would be required by K.S.A. 12-6a04.
- 3. That names may not be withdrawn from this petition by the signers thereof after the Governing Body commences consideration of the petition or later than seven (7) days after filing, whichever occurs first.
- 4. That when this petition has been filed with the City Clerk and it has been certified that the signatures thereon are according to the records of the Register of Deeds of Sedgwick County, Kansas, the petition may be found sufficient if signed by either (1) a majority of the resident owners of record of property liable for assessment under the proposal, or (2) the resident owners of record of more than one-half of the area liable for assessment under the proposal, or (3) the owners of record (whether resident or not) of more than one-half of the area liable for assessment under the proposal. The Governing Body is requested to proceed in the manner provided by statute to the end that the petitioned improvements may be expeditiously completed and placed in use.

WITNESS our signatures attached with respect to each of which is indicated the property owned and the date of signing.

LEGAL DESCRIPTION	SIGNATURE	DATE
CHAPEL LANDING 6TH ADDITION Lots 1 through 34, Block A	TW RENOVATIONS	s, LLC
	By: Travis J. Whisle	a/a4/a5 er, Managing Member
**************************************	***	
THIS PETITION was filed in my was examined, considered and found	office on sufficient by the Govern	ning Body of the City on
•		
	Ci	ity Clerk

# **CHAPEL LANDING 6TH ADDITION**

Wichita, Sedgwick County, Kansas

# WATER PETITION

Benefit District: (34 Lots) Lots 1 Through 34, Block A

**Cost Estimate** 

Item	Quantity	Unit	Unit Price	Amount
8" Pipe	2450	L.F.	\$55.00	\$134,750.00
Fire Hydrants	3	EA.	\$10,000.00	\$30,000.00
Temporary Blowoff	2	EA.	\$3,000.00	\$6,000.00
Valves	3	EA.	\$3,500.00	\$10,500.00
Test Stations	2	EA.	\$5,000.00	\$10,000.00
Sand Backfill (Flushed & Vib.)	170	L.F.	\$20.00	\$3,400.00
Connect to Existing	1 1	L.F.	\$2,500.00	\$2,500.00
Seeding & Erosion Control	1 1	L.S.	\$3,000.00	\$3,000.00
Site Clearing and Restoration	1 1	L.Ş.	\$12,000.00	\$12,000.00
Subtotal		110000	-Meditedial Access Ac	\$212,150.00
+ 35% Design, Insp., & Administration				\$74,252.50
Total				\$286,402.50

**Petition Amount** 

\$287,000

Average Cost Per Lot

\$8,441

Average Monthly Assessment

\$67 (Based on 15 years @ 5%)

Average Monthly Assessment

\$56 (Based on 20 years @ 5%)

SANITARY SEWER, WATER, STORM WATER SEWER, & STREET PAYING PROJECTS CHAPEL LANDING 6TH BEL AIRE, SEDGWICK COUNTY, KANSAS CHAPEL LANDING 6TH ADDITION - 34 TOTAL LOTS **୍ବ**୍ଦେଶ BAUGHMAN COMPANY 315 Elliu St. Westina, KS 07211 S16 262-7271 BaughmanGo.com